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MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

1) On phenolic pistons, cracks that extend partially across the piston face are acceptable.
A) True
B) False

1)

2) Two technicians are discussing ways of removing a caliper piston. Technician A says to use
compressed air. Technician B says to use large pliers. Which technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians
D) Neither technician

2)

3) A vehicle is in for a brake inspection and the red brake warning light is ON. Which of the
following actions should the technician NOT take?

A) Inspect the system for leaks
B) Test drive the vehicle
C) Check the brake pedal height
D) Check the parking brake

3)

4) What is the technician doing in this illustration?

A) Honing the caliper
B) Preparing to rotate the caliper piston into the caliper body
C) Installing the dust boot
D) None of these

4)
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5) Which of these parts should be replaced when reassembling?

A) A
B) B
C) C
D) None of these

5)

6) After a disc brake pad replacement, the brake pedal went to the floor the first time the brake
pedal was depressed. The most likely cause was ________.

A) Air in the lines
B) Improper disc brake pad installation
C) Lack of proper lubrication of the caliper slides
D) Normal operation

6)

7) A typical disc brake caliper overhaul (OH) kit usually includes what parts?
A) Square-cut O-ring seal and dust boot
B) Replacement caliper piston and dust boot
C) Dust boot, return spring, and caliper seal
D) Disc brake pad clips, dust boot, and caliper piston assembly

7)

8) Technician A says that a lack of lubrication on the back of the disc brake pads can cause brake
noise.
Technician B says that pads that are not correctly crimped to the caliper housing can cause brake
noise. Which technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians
D) Neither technician

8)

9) Technician A says that all metal-to-metal contact areas of the disc brake system should be
lubricated with special brake grease for proper operation. Technician B says that the lubrication
helps reduce brake noise (squeal). Which technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians
D) Neither technician

9)
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10) A "chirping" noise is heard while the vehicle is moving forward, but stops when the brakes are
applied. Technician A says that the noise is likely caused by the disc brake pad wear sensors.
Technician B says the noise is likely a wheel bearing because the noise stops when the brakes are
applied. Which technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians
D) Neither technician

10)
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1) A
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